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BE-TTAFAA=THILAEA
NRERFE ARG
LIS Ry REr&F L
BA  BRHEE EhEE EXEE DR (&8 B RREE 5t
FHx FHT FHT FHr FHT FHT FHx FHT FHT
KZZTTRFEMA—A 3092774 222,197 1,161 84,759 - 83,881 3,484,772 2,060 3,486,832
FE X ER = = = (70,815) = = (70,815) = (70,815)
BEENERRHERZFS L = = - (70,815) - = (70,815) - (70,815)
HNAEF = = = = — 24227 224227 - 24207
HIRTER 2 WA R 858 = = = (70,815) - 24227 153412 - 153412
& B R R = = = 64 = 64 - 64
R e 3,130 2,097 = = = = 5,227 = 5,227
—ZTRFAA=TER
—ZTRFt+A-A 3095904 224,294 1,161 13,944 64 308,108 3643475 2,060 3,645,535
0B 5 R - - - 5,829 - - 5,829 - 5,829
HRAF = = = = — 216539 216,539 - 216,539
HNERZ WA RS L5 = = = 5,829 - 216539 222,368 - 222368
1B SR HEEF = = = = 1,476 - 1476 - 1,476
R = = = = - (479367) (479,367 - (479,367)
R e 5,739 3,846 = = = = 9,585 - 9,585
R=ZE F=A=1+—H 3,101,643 228,140 1,161 19,773 1,540 45280 3,397,537 2,060 3,399,597
fE 5 R = — - (20,746) — - (20,746) - (20,746)
HRAF = = = = - 157,755 157,755 - 157,755
HIRRER 2 WA R X a5 = = - (20,746) - 157,755 137,009 - 137,009
1E B R {n EiERR A = = = = 3,691 - 3,691 - 3,691
RE = = - - - (268,529) (268,529) - (268,529)
1T R tn HitE 186 124 = — — = 310 - 310
R=TEAFNA=1AH 3,101,829 228,264 1,161 (973) 5231  (65,494) 3,270,018 2,060 3,272,078
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